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1. How many strobes should be placed in a hallway that is 4.6
m wide and 100 m long for a fire alarm system?
A. One
B. Two
C. Three
D. Four

2. Which of the following is recognized as a nonmechanical
firestop system?
A. Cable transit system
B. Firestop blocks
C. Fire rated pathway device
D. Factory fabricated sleeve system

3. If high levels of return loss are detected in network
cabling, which test is best for troubleshooting?
A. Power meter
B. Continuity testing
C. Level II testing
D. Time domain reflectometer (TDR)

4. What is the minimum distance for a weatherproof
enclosure from the edge of a pool or water hazard?
A. 1 m (3 ft)
B. 2 m (7 ft)
C. 4 m (13 ft)
D. 6 m (20 ft)

5. What is the MINIMUM cable bend radius that must be
maintained during fiber cable installation in a tight corner?
A. 254 mm (10 in)
B. 305 mm (12 in)
C. 381 mm (15 in)
D. 457 mm (18 in)
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6. Generating multiple message frames containing identical
data being transferred to different devices is called?
A. Unicast
B. Replicating unicast
C. Multicast
D. Broadcast

7. In a space with hard surfaces, which option will NOT help
improve audio intelligibility?
A. Add tapestries to the walls.
B. Provide additional speakers at lower output.
C. Increase the volume to the existing speakers.
D. Reduce the distance of the existing speakers to the listener.

8. What is the primary purpose of perimeter raceway
systems?
A. Underfloor pathway
B. Apartments or hotels with accessible molding
C. Warehouses with minimal telecommunications services
D. Small floor areas with services along walls

9. Conduits entering a building from below grade should
extend above finished floor (AFF) by what minimum height?
A. 51 mm (2 in)
B. 100 mm (4 in)
C. 152 mm (6 in)
D. 203 mm (8 in)

10. Which of the following is an alarm management output
system?
A. Patient monitoring system
B. Bed monitoring system
C. Security system
D. Wireless telephone system
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Answers
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1. D
2. B
3. D
4. D
5. A
6. B
7. C
8. D
9. B
10. C
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Explanations
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1. How many strobes should be placed in a hallway that is 4.6
m wide and 100 m long for a fire alarm system?
A. One
B. Two
C. Three
D. Four

The correct answer reflects the guidelines typically recommended for placing strobe
lights in a hallway of given dimensions to ensure adequate visibility and effectiveness in
the event of a fire alarm activation.   When considering the spacing and placement of
strobe lights, several factors need to be evaluated, including the width of the hallway and
relevant codes or standards, such as those from the National Fire Protection Association
(NFPA) or the International Building Code (IBC). These standards often suggest that
strobe lights should be spaced a certain distance apart to ensure that the light is visible
from anywhere in the corridor, while also maintaining a particular intensity.  In a hallway
that is 4.6 meters wide and 100 meters long, the placement of sufficient strobes becomes
crucial. Typically, strobe lights should be spaced no more than 15 to 20 feet apart
(approximately 4.6 to 6 meters) according to common fire safety codes. Given this
guideline, it would require multiple strobes along the length of the hall to ensure that
the light output is adequate for safe evacuation and to adhere to visibility requirements. 
In this scenario, placing four strobes allows for proper coverage throughout the entire
hallway. This ensures that regardless of where an individual is located within the
corridor, they can

2. Which of the following is recognized as a nonmechanical
firestop system?
A. Cable transit system
B. Firestop blocks
C. Fire rated pathway device
D. Factory fabricated sleeve system

The concept of a nonmechanical firestop system refers to methods or materials used to
inhibit the spread of fire and smoke through openings in fire-rated walls and floors
without relying on mechanical components such as moving parts or complex assemblies. 
Firestop blocks are a prime example of a nonmechanical firestop system. They are
typically made of materials that expand when exposed to heat, thereby sealing the
opening in which they are installed, preventing fire and smoke from passing through.
This process relies solely on the physical properties of the materials used, rather than
any intricate assembly or mechanical operation.  In contrast, the other options involve
more complex systems. A cable transit system, for instance, is designed to manage and
protect cables as they pass through fire-rated walls or floors, and often includes
mechanical components for proper sealing. Fire-rated pathway devices may create a
conduit for utilities and typically rely on added mechanisms for effectiveness. Factory
fabricated sleeve systems involve pre-manufactured assemblies that include mechanical
aspects to ensure a tight fit for cables or pipes passing through walls and floors. While
these systems may be effective for firestopping, they do not fall under the category of
nonmechanical solutions, as they may incorporate mechanical features that contribute to
their installation and operation.
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3. If high levels of return loss are detected in network
cabling, which test is best for troubleshooting?
A. Power meter
B. Continuity testing
C. Level II testing
D. Time domain reflectometer (TDR)

High levels of return loss in network cabling indicate that there may be significant
reflections occurring within the cabling system, which can affect the performance of the
network. To effectively troubleshoot this issue, utilizing a Time Domain Reflectometer
(TDR) is the most suitable approach.  A TDR works by sending a pulse of electrical
energy down the cable and measuring the time it takes for the reflected signals to return.
This technique allows for the identification of issues such as breaks, shorts, or poor
connections within the cable, as it can pinpoint the exact location of the faults based on
the reflection time. Consequently, if high return loss is detected, employing a TDR will
help diagnose the source of the reflections and facilitate targeted repairs or adjustments.
Other testing methods, such as a power meter or continuity testing, do not specifically
address the issue of return loss or the ability to locate faults within the cable. Continuity
testing only verifies whether the signal can pass through the cable but does not provide
details about the quality of the signal or any reflections. Level II testing, which usually
encompasses a broader set of tests for network performance, may include some measures
related to return loss but lacks the precise localization capability of a TDR for identifying
cabling issues. Thus, for analyzing

4. What is the minimum distance for a weatherproof
enclosure from the edge of a pool or water hazard?
A. 1 m (3 ft)
B. 2 m (7 ft)
C. 4 m (13 ft)
D. 6 m (20 ft)

The minimum distance for a weatherproof enclosure from the edge of a pool or water
hazard is established at 6 meters (20 feet) according to various safety standards,
including the National Electrical Code (NEC) in the United States. This distance is
designed to ensure a margin of safety from electrical hazards, acknowledging the
potential for water to conduct electricity, which could lead to hazardous situations if
electrical equipment is too close to water sources.  By maintaining a distance of 6
meters, the regulations help protect individuals from accidental electrocution and other
safety risks that arise when electrical systems are too near to water sources. This
distance takes into account factors such as splashing and the potential for high water
levels, ensuring that even in adverse conditions, the enclosure remains a safe distance
away, thus minimizing the risk associated with electrical equipment in wet environments.
Following these guidelines is essential for designing systems that prioritize both safety
and compliance with established electrical codes. The other distances offered in the
question do not provide the same level of protection and may not comply with the
necessary safety standards for installations near water hazards.

9Sample study guide. Visit https://rcddcert.examzify.com for the full version

SA
M

PLE



5. What is the MINIMUM cable bend radius that must be
maintained during fiber cable installation in a tight corner?
A. 254 mm (10 in)
B. 305 mm (12 in)
C. 381 mm (15 in)
D. 457 mm (18 in)

The minimum cable bend radius for fiber optic cables is crucial to maintain cable
integrity and performance during installation, especially around tight corners. The
correct answer of 254 mm (10 inches) is often referenced in various industry standards,
including those set by the Telecommunications Industry Association (TIA) and the
Institute of Electrical and Electronics Engineers (IEEE).  Maintaining the minimum bend
radius is essential because exceeding this radius can lead to microbending and
macrobending effects, which can impair the signal quality and increase the attenuation
of the fibers. This can result in significant data loss, reduced performance, and
ultimately increased costs due to the need for repairs or replacements.  In practice, the
specific bend radius required can vary based on the type of fiber and cable construction,
including factors such as whether it is a loose tube or buffered fiber. However, for
standard installations, the figure of 254 mm has emerged as a general guideline for tight
turns, indicating that when working with standard fiber cables, this radius should ideally
be observed to avoid compromising the system's overall performance.   Consequently,
understanding this minimum bend radius is crucial for professionals involved in the
design and installation of fiber optic systems, as it ensures the longevity and reliability of
the communication infrastructure.

6. Generating multiple message frames containing identical
data being transferred to different devices is called?
A. Unicast
B. Replicating unicast
C. Multicast
D. Broadcast

Replicating unicast refers to the process of generating multiple message frames
containing the same data to be sent to different devices individually. In a unicast
communication, data is sent from one sender to one specific receiver, which means if the
same message is needed by multiple receivers, it would traditionally require separate
unicast transmissions for each one. Replicating unicast efficiently creates multiple
copies of the same message frame, ensuring that the identical data reaches each
intended recipient without having to rely on multiple independent unicast streams.  This
approach reduces the overhead that would occur if the same data were sent separately to
each device, making it a more efficient use of network resources in scenarios where the
same data needs to be sent to numerous devices. While unicast focuses on point-to-point
communication and broadcast on all devices in a network segment, replicating unicast
specifically targets scenarios where efficiency in sending identical data to various
receivers is pursued.
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7. In a space with hard surfaces, which option will NOT help
improve audio intelligibility?
A. Add tapestries to the walls.
B. Provide additional speakers at lower output.
C. Increase the volume to the existing speakers.
D. Reduce the distance of the existing speakers to the listener.

In a space characterized by hard surfaces, sound can bounce off these surfaces, creating
echoes and reducing the clarity of audio. To improve audio intelligibility, strategies often
involve managing reflections and enhancing how sound is delivered to listeners.  The
choice of increasing the volume of the existing speakers may initially seem like a good
option for improving audibility. However, simply raising the volume does not address the
issue of sound reflections caused by hard surfaces. In fact, increasing the volume can
lead to greater reverberation and more pronounced echoes, which could further
complicate understanding spoken words. This can overwhelm the listener with sound
rather than facilitating clear communication, making it harder to discern the intended
audio.  In contrast, adding tapestries introduces soft materials that can absorb sound
waves, thereby diminishing reflections and echoes. Providing additional speakers at
lower outputs can help distribute sound more evenly, reducing the need for high volume
in any given area and further mitigating echo. Reducing the distance of existing speakers
to the listener can improve the immediate clarity of sound received, countering the
effects of hard surfaces.  These considerations highlight why the choice to simply
increase volume doesn't effectively promote better audio intelligibility in environments
with hard surfaces.

8. What is the primary purpose of perimeter raceway
systems?
A. Underfloor pathway
B. Apartments or hotels with accessible molding
C. Warehouses with minimal telecommunications services
D. Small floor areas with services along walls

The primary purpose of perimeter raceway systems is to facilitate the distribution of
telecommunications and data cabling within small floor areas, especially along the walls.
This design is particularly advantageous in environments where additional floor space is
limited and there is a need to keep cabling organized and accessible for maintenance. 
Perimeter raceways provide a convenient pathway for cabling, minimizing the need for
complex installations that could disrupt workflow or create safety hazards. They allow for
easy access to connections and help maintain an organized layout, which is especially
important in areas where space is at a premium. Additionally, by running along walls,
they help reduce interference with other systems or processes in the facility.  The other
choices do not accurately represent the primary function of perimeter raceway systems.
For instance, although an underfloor pathway might (in some contexts) be useful for
cabling, it does not specifically address the functionality that perimeter raceway systems
provide. Likewise, while perimeter raceways could be utilized in settings like apartments
or hotels, the option focusing on small floor areas more accurately captures the essence
of their design and intended use.
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9. Conduits entering a building from below grade should
extend above finished floor (AFF) by what minimum height?
A. 51 mm (2 in)
B. 100 mm (4 in)
C. 152 mm (6 in)
D. 203 mm (8 in)

The minimum height that conduits entering a building from below grade should extend
above finished floor (AFF) is 100 mm (4 in). This height is important for several reasons.
Firstly, it helps to prevent water from entering the conduits, which could potentially lead
to short circuits or damage to the electrical wiring inside. By ensuring that conduits are
elevated adequately above the concrete or finished floor level, the likelihood of moisture
infiltration is significantly reduced.  Additionally, this distance provides a buffer that
allows for clearance between the floor surface and the conduit, which is beneficial in
maintaining the integrity of the conduit and the systems that may be associated with it.
It also acknowledges potential fluctuations in floor height due to settling or changes over
time, ensuring that the conduits remain protected.  This standard is derived from best
practices in electrical installation and building codes, emphasizing the importance of
safety and functionality in building design. The height of 100 mm (4 in) strikes a balance
between protection and practicality, making it the widely accepted minimum in the
industry.

10. Which of the following is an alarm management output
system?
A. Patient monitoring system
B. Bed monitoring system
C. Security system
D. Wireless telephone system

An alarm management output system is crucial for monitoring and responding to various
situations within a facility, particularly in healthcare or environments requiring security.
The correct answer relates specifically to a system designed to alert staff and manage
emergency conditions, providing real-time notifications that facilitate quick responses.  A
security system fits this definition, as it integrates various sensors and devices to detect
unauthorized access, threats, or other security-related events. It generates alerts that
can be sent to security personnel, enabling immediate action to ensure safety.  In
contrast, the other options do not primarily serve the function of alarm management. A
patient monitoring system focuses on tracking various health metrics and may generate
alerts, but its primary role is not alarm management in a broader sense. Similarly, a bed
monitoring system pertains specifically to monitoring the status of beds—such as
occupancy or patient presence—without encompassing the broader scope of alarm
management. A wireless telephone system, while useful for communication, does not
inherently have alarm management capabilities or functions. Therefore, the security
system stands out as the best fit for what constitutes an alarm management output
system.
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